A e/ EIRE+FIR4R

PP/PO

SHRR
Part Number

01040P0020040004
01040P0020040006
01040P0020040008
01040P0020040010
01040P0020040012
01040P0030050004
01040P0030050005
01040P0030050006
01040P0030050008
01040P0030050010
01040P0030050012
01040P0030050016
01040P0030050020
01040P0030050025
01040P0040070004
01040P0040070006
01040P0040070008
01040P0040070010
01040P0040070012
01040P0040070016
01040P0040070020
01040P0040070025
01040P0040070030
01040P0040070035
01040P0040070040
01040P0050080006
01040P0050080008
01040P0050080010
01040P0050080012
01040P0050080016
01040P0050080020
01040P0050080025
01040P0050080030
01040P0050080035
01040P0050080040
01040P0060100006
01040P0060100008
01040P0060100010
01040P0060100012
01040P0060100016
01040P0060100020
01040P0060100025
01040P0060100030
01040P0060100035
01040P0060100040

kS
M

M2 x4
M2x6
M2x8
M2x10
M2x12
M3 x4
M3x5
M3 x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x4
M4 x6
M4 x8
M4x10
M4x12
M4x16
M4x20
M4 x25
M4x30
M4x35
M4 x40
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x25
M5x%30
M5x35
M5x40
M6x6
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25
M6x30
M6x35
M6x40

Size (mm)
DK K
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
3.85 1.53
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
5.45 2.33
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
7.82 3.01
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
9.32 361
9.32 3.61
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445
11.79 445

Dk

) §

SHRR
Part Number

01040P0060100045
01040P0060100060
01040P0080125010
01040P0080125012
01040P0080125016
01040P0080125020
01040P0080125025
01040P0080125030
01040P0080125035
01040P0080125040
01040P0080125045
01040P0080125050
01040P0080125060
01040P0080125070
01040P0080125080
01040P0080125090
01040P0080125100
01040P0100150020
01040P0100150025
01040P0100150030
01040P0100150035
01040P0100150040
01040P0100150045
01040P0100150050
01040P0100150055
01040P0100150060
01040P0100150065
01040P0100150070
01040P0100150080
01040P0100150090
01040P0100150100
01040P0100150150
01040P0120175020
01040P0120175025
01040P0120175030
01040P0120175035
01040P0120175040
01040P0120175050
01040P0120175060
01040P0120175070
01040P0120175080
01040P0120175090
01040P0120175100
01040P0120175150

hr#EPRA BIENATT

K

RE
M

M6x45
M6x60
M8x10
M8x12
M8x16
M8x 20
M8x25
M8x30
M8x35
M8x40
M8x45
M8x50
M8x60
M8x70
M8x80
M8x90
M8x100
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x65
M10x70
M10x80
M10x90
M10x100
M10x150
M12x20
M12x25
M12x30
M12x35
M12x40
M12x50
M12x60
M12x70
M12x80
M12x90
M12x100
M12x150

Size (mm)
DK K
11.79 445
11.79 445
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
15.79  5.85
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32
19.74  7.32



	Sheet2

